SHIP STRUCTURE (GIM 3041) VISA EXAM 13.11.2019

Question 1: Qalculate the section modulus of the bulb section 160=10 attached to a plate with a
thickness of 12 mm. (30 points)
" Note that; SM=Ina/ ¥max; INa=2L+ Eﬂﬁdgl syNA = Y Aixy /YA

Question 2:'A view of part of a dry cargo ship whose main particulars are given below, is shown in
Figure 2:Find the scantlings of the spotted structural members 71, 72, 73 and ?4. (70 points)

L =100+ 5%n[metre]; L/B=7.0; B/T=25; L/D=110 jcs=07 | Vo=17 knots.

Frame spacing (a) is 800 mm and the distance between solid (plate) floors is 2,4 melres. Unlimited
service range will be considered. The steel used is the normal strength steel whose yield stress (Ran)
is 235 [N/mmZ]. The normal stress due to longitudinal bending at bottom (01s) is 120 [Nfmm?] ; (G/V)
may be taken as 0.7.

Note that n is the last digit of your student identification number. For example: If your student ID is
180A2063. then L = 100 + 5x3 = 115 [metres]. Please state other assumptions that you may need.
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